ARC (Average Rate of Change) :M
—a

Find the ARC (Average Rate of Change) for the following functions for the given points.

1-a) f(x)=3x-5 from x=4, to x=5 1-b) f(x)=3x-5, from x=45 1to x=5
1-c) f(x)=3x-5 from x=49, to x=5 1-d) f(x)=3x-5, from x=h, to x=5
l-e) f(x)=3x-5 from x=h, to x=a 1-f) f(x)=3x-5, from x=x, to x=x+h
2-a) f(x)=x*+3, from x=4, to x=5 2-b) f(x)=x"+3, from x=45 to x=5
2-C) f(x)=x"+3, from x=49, to x=5 2-d) f(x)=x"+3, from x=h, to x=5
2-€) f(x)=x"+3, from x=h to x=a 2-f) f(x)=x"+3, from x=x, to Xx=x+h
3-a) f(x)= \/; -2, from x=4, to x=5 3-b) f(x)=+x-2, from x=45 to x=5
3-c) f(x)= \/; -2, from x=49, to x=5 3-d) f(x)=+/x-2, from x=h, to x=5
3-e) f(x):\/;—Z, from x=a, to x=h 3-f) f(x):\/;—Z, from x=x, to x=x+h
4-a) f(x)=3/(2+X) from x=4, to x=5 4-b) f(x)=3/(2+Xx) from x=45 to x=5
4-c) f(x)=3/(2+X) from x=49, to x=5 4-d) f(x)=3/(2+Xx) from x=h, to x=5
4-e) f(x)=3/(2+X) from x=a, to x=h 4-f) £(x)=3/(2+x) from x=X, to Xx=x+h
Answers
1-a 1-b 1-c 1-d 1-e 1-f
3 3 3 3 3 3
2-a 2-b 2-C 2-d 2-e 2-f
9 9.5 9.9 5+h a+h 2x+h
3-a 3-b 3-C 3-d 3-e 3-f
V54 | 5-as | 5-ag J5-+h Ja—+/n Vx=/x+h
4-a 5-b 6-c 7-d 8-e 9-f
3/7-3/6 3/7-3/6.5 3/7-3/6.9 | 3/7-3/(2+h) | 3/(2+a)-3/(2+h) | 3/(2+x)-3/(2+x+h)






